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Resultsin this report are from a standalone telephone survey from UMR
Research’s national interview facility in Auckland. This was an Auckland survey
of 500 residents in the Entrust region, 18 years of age and over.

The survey was conducted from 29th January to 1st February 2015.

The sample size was n=500, with the margin for error for a 50% figure at the 95%
confidence level being + 4.4%.

The associated regional subsamples are as follows:

SAMPLE SIZESAND ASSOCIATED = MARGIN OF ERROR
MARGIN OF ERRORS +/-
ALL 500 44
AUCKLAND 268 6.0
MANUKAU 169 7.5
FRANKLIN / PAPAKURA 63 123

At the time of the survey, Entrust was known as the Auckland Energy
Consumer Trust (AECT).
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Awareness and knowledge

Atotal of 80% of those surveyed declared awareness of the Auckland Energy
Consumer Trust, with central Aucklanders (85%) slightly more likely to be aware
than Manukau (77%) or Franklin/Papakura residents (68%).

Levels of declared knowledge amongst respondents who were aware of the
Trust were low. Of those aware of the Trust, 20% said they knew ‘a lot’ or ‘a fair
amount’ (equates to 16% of all respondents), while 79% said they knew ‘not that
much’or ‘hardly anything’. Higher incomes ($100K plus) (25%), older residents
(26%) and males (26%) were more likely to declare higher levels of knowledge.

Respondents who declared they knew a lot or a fair amount were asked what
their understanding of the Trust’s role was. Most (78%) said they distributed a
dividend to Auckland households, and a sizable portion (38%) knew the Trust
was a major shareholder of Vector.

Performance

Those who declared they knew a lot or a fair amount were also asked to rate
the performance of the Trust. A total of 60% said they did a good job (‘1" + 2’
outofalto5scalewhere1lmeans ‘very good and 5 means ‘very poor’). Only a
small number (9%) believed they did a poor job (‘4’ +‘5’), and the remainder were
neutral (‘3’) or unsure (31%).

When asked to elaborate on why they gave a good performance rating, most
said they received money or a dividend from the Trust. Other reasons included
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‘helping people’, ‘keeping costs down (with electricity) and a few respondents
feltthey ‘do a good job’ or simply had ‘no problem’ with the Trust.

Future of Trust

Residents (89%) were overwhelmingly supportive of retaining the Trust, while
just 7% felt it should be wound up and the shares passed to Auckland Council.
This support ran across all demographics.

The twin pillars of this near-overwhelming support for retaining the Trust are
wanting the dividend and general distrust of the Council.

The most cited specific reason for retaining the Trust was the dividend the
respondents received. Nearly half of the respondents, however, were likely to
mention a negative view of Auckland Council. They did not trust

the Council to spend the money wisely or did not want the Council to receive
the money or shares in general or argued the Council already had enough
money or would not be in favour of them using it for other projects.

The few respondents who were in favour of closing the Trust predominantly
believed the Council needed the money to fund projects. There was a small
number that were only in favour of the Trust ‘wind-up’ if the money was put
solely into transport initiatives.

The arguments tested for retaining the Trust were much more powerful than
those for winding it up.

83% agreed (‘'1’+ ‘2’ out of 1to 5 scale where 1 means ‘strongly agree’ and 5
means ‘strongly disagree’) that “Electricity prices are so high it is fair to get
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at least some of that back in the annual dividend.” Those earning more
than $100K were noticeably less likely to agree with this statement,

77% agreed that “The Auckland Council are just as likely to waste the
money from the Vector shares as they are to invest it in sensible projects.”
Females and 18 to 44-year-olds were less likely to agree with this statement.

63% agreed that “l and/or my family need that annual dividend to help
meet rising living costs.” Central Auckland residents, males, those aware of
the AECT and those on higherincomes were less likely to agree.

Aminority of respondents agreed with statements that were in favour of
closing the Trust:

30% agreed that “There is no logical reason why people who live in a house
in one part of Auckland should get the dividend payment.” Over 60 year olds
were less likely to agree, while those who weren’t aware of the Trust were
more likely.

27% agreed that “The Council can use the $100 million annual revenue

from the Vector shares to fund major projects, such as tackling traffic
congestion or improvements to parks and theatres.” Females, younger
residents, Central Aucklanders and those on high incomes were more likely to
agree.

23% agreed that “The Trust was set up to soften opinion to the 1990s’
electricity reforms. There is no need to pay the Trust’s
running costs now.” There were no notable demographic differences.
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DECLARED AWARENESS OF AECT

Have you heard of the Auckland Energy Consumer Trust?
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Males (n=237)

Females (n=263)

18- 44 (n=183)

45 -59 (n=133)

60+ (n=184)

Auckland (n=268)
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Manukau (n=169)

Franklin/Papakura (n=63)"

> $50K or less (n=114)

o

> $50K but < $100K (n=110)

“Low sample size.
Result must be treated as indicative only.

> $100K (n=160)
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Base: 80% of respondents who said

they were aware of AECT (n=400)

“Low sample size - result must be treated
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DECLARED KNOWLEDGE OF AECT

How much do you know about what the Auckland Energy Consumer Trust does?
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18 1 81 > $50K but < $100K (n=87)
25 75 > $100K (n=130)
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UNDERSTANDING OF AECT

What is your understanding of what the Auckland Energy Consumer Trust does?

Distributes annual
dividend cheques to
Auckland households

A major shareholder
of Vector

Deals with
govt bodies on
regulatory issues

Provides strategic
guidance to Vector

Unsure
Base: 17% of respondents who said

they were aware and had a good

knowledge of AECT (n=400)

Multiple response question - percentages will
add to more than 100%.

40%

60%

80%
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Base: 17% of respondents who said

they were aware and had a good
knowledge of AECT (n=400)

Multiple response question - counts will add
to more than sample size.
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DECLARED KNOWLEDGE OF AECT

Using a scale from 1to 5 where 1 means very good and 5 means very poor, how good
a job does the Auckland Energy Consumer Trust do?

GOOD PERFORMANCE: 60% POOR PERFORMANCE: 9%

] ]
31 29 31 d 8

[ 1-vervGoop B [ 3-unsure e [l s-veryrooR

Reasons for good performance (n=50) (counts)

Receive dividends / money / paid each year 28

Help/Look after people, social-minded
Keep costs down / power rates cheaper
Do a good job (general)

No problem / happy with Trust

Keep us informed 3
Good/reliable supply of electricity 2
Financially in order 2
Not politically driven 2
Heard good things
Haven't sold out
Established and steady organisation/strong Board | 1
Unsure 2
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Reasons for poor performance (n=8) (counts)

Don’t do a good enough job - general

Trust not required

Privately run/ politically driven

Dividends stagnant / same
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AECT - RETAIN VS WIND UP

As you may be aware, the Auckland Energy Consumer Trust is a major shareholder in the
electricity lines company Vector. Each year, it distributes an annual dividend from Vector
profits to Auckland residents. In 2014 that dividend was $335. There has been some debate
about the future of the Auckland Energy Consumer Trust. Do you support:

A) The AECT remaining in operation and providing that annual
dividend to Auckland residents

. Unsure

. B) The AECT being wound up with ownership of the Vector shares
passing to Auckland Council and returns from those shares
being used to fund Council projects
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What are the main reasons you support the AECT remaining in operation?

Receive Don’t trust
dividends/money/ Council/don’t
paid each year want Council to
38.3% get money
34.6%

“They send me a “'m not happy
cheque every year - with the way the
I have some money Council uses our

tospend” money.”

“Iwould trust the

“It should go back to
AECT to use the

the consumers, they
are the ones who pay money more than
forit,anditis good Iwould trust the
to get something in Council”
return”

“Itis unfair-the
Trust has 50 years to
run and no outsiders

have aright to get
theirhandsonit”

“Itis always nice to
get the dividend”

“The main reason is

the financial
incentive” “The Council are
fleecing us enough
already, as
ratepayers”

Council will use
money for other
projects/already

have enough
11.2%

“The Council is trying
to get too much
money, | think they
already have enough
funding”

“|t's just a cash cow

(for the Council)and

they will spenditon
theirown needs”

11
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Base: 89% of respondents who said

they support retaining the AECT (n=442)
Multiple response question - percentages will
add to more than 100%.
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What are the main reasons you support the AECT remaining in operation?

Independent/ Help/look
autonomous/ after people,

accountable/reliable social-minded
authority 5.3%
6.2%

“They are acredible, “Helps people who
independent don'thave alot
organisation.” of money.”

“|tisindependent
from the Council”

Other reasons:

e Doagoodjob(ingeneral)

e No problem/happy with Trust

e Keeps costs down/power rates cheaper/controls rates
e Needs toremain with public

e Ratepayers have more power

e Keepsusinformed/more aware of whatis going on

e Heard good things
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What are the main reasons you support the Auckland Energy Consumer Trust being wound up?

Council could use Public control/not Transport

initiatives need

extra money/put private

to better use for
other projects
(n=21)

“I think that the
Council could use
more money, lots
of projects to
bedone”

“If the profits we get

goes to the Council
for other projects
within Auckland,

that would be good”

“Nice easy way to
invest the money is
to use it for Auckland
Council projects”

(n=6)

“Support (the money)
going to the Council,
let everybody share”

“Ithinkitis
complicated with so
many shareholders
and the distribution
of dividends; notall

get the dividends,
which is unfair.

I may not completely
trust the Council but
this path seems
more efficient”

funding
(n=4)

“Only support
this if the Council
fund projects for the
Auckland city
rail link”

“Ifitis going to other

things for Auckland,

like transport, then
| supportit”

13



14

EntrU St Quantitative Survey

Majority shareholder of Vector

What are the main reasons you support the Auckland Energy Consumer Trust being wound up?

Trust not achieving Less charges/rates

anything won’t go up
(n=3) (n=3)

“(The Trust)isa “The Council could
waste of time and use the extramoney
money; it does not and that will help
achieve anything” erase any other

charges they could
chargeusin
the future”

Other reasons:

o Don’tgetdividend/notall shareholders get dividends
Base: 7% of respondents who said
theysupportwindingup theAECT(n=442) @ Don’t know/unsure of what the Trust does

Multiple response question - counts will

add to more than sample size e Samedividends for everyone regardless of power usage
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Using a scale of 1to 5 where 1 means strongly agree and 5 strongly disagree,
how much do you agree or disagree with the following?

Electricity prices are so high itis fair to get at least some of that
back in the annual dividend.

TOTAL AGREE: 83% TOTAL DISAGREE: 9%
1
_ I

The Auckland Council are just as likely to waste the money from
the Vector shares as they are to investitin sensible projects.

TOTAL AGREE: 77% TOTAL DISAGREE: 13%
|

I and/or my family need that annual dividend to help meet rising
living costs.

TOTAL AGREE: 63% TOTAL DISAGREE: 24%

Il :-sroneivacree [ 2 3 [Munsure ¢ HARDLY ANYTHING
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ARGUMENTS FOR RETAINING THE AECT
DEMOGRAPHICS - TOTAL AGREE

Using a scale of 1to 5 where 1 means strongly agree and 5 strongly disagree,
how much do you agree or disagree with the following?

. Electricity prices are so high it is fair to get at least some of that back in the annual dividend.
. The Auckland Council are just as likely to waste the money from the Vector shares as they are to invest it in sensible projects.

. I and/or my family need that annual dividend to help meet rising living costs.

Males (n=237)

Females (n=263)

18- 44 (n=183)

45 - 59 (n=133)

60+ (n=184)

Aware of AECT (n=400)

Not aware of AECT (n=100)
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ARGUMENTS FOR RETAINING THE AECT
DEMOGRAPHICS - TOTAL AGREE

Using a scale of 1to 5 where 1 means strongly agree and 5 strongly disagree,
how much do you agree or disagree with the following?

. Electricity prices are so high it is fair to get at least some of that back in the annual dividend.
. The Auckland Council are just as likely to waste the money from the Vector shares as they are to invest it in sensible projects

. I'and/or my family need that annual dividend to help meet rising living costs.
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Poor knowledge (n=314)

“Low sample size
Result must be treated as indicative only.
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ARGUMENTS FOR WINDING UP THE AECT

Using a scale of 1to 5 where 1 means strongly agree and 5 strongly disagree,
how much do you agree or disagree with the following?

Thereis nological reason why people who live in a house in one
part of Auckland should get the dividend payment.

TOTAL AGREE: 30% TOTAL DISAGREE: 47%
I I

The Council can use the $100 million annual revenue from the
Vector shares to fund major projects, such as tackling traffic
congestion or improvements to parks and theatres.

TOTAL AGREE: 27% TOTAL DISAGREE: 62%
I 1
11 16 10 1 18 44

The Trust was set up to soften opinion to the 19905’ electricity
reforms. There is no need to pay the Trust’s running costs now.

TOTAL AGREE: 23% TOTAL DISAGREE: 24%
I I

[l :smronevacree [z [z [ unsure [l 4[] HARDLYANYTHING
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“Low sample size
Result must be treated as indicative only.
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ARGUMENTS FOR WINDING UP THE AECT
DEMOGRAPHICS - TOTAL AGREE

Using a scale of 1to 5 where 1 means strongly agree and 5 strongly disagree,
how much do you agree or disagree with the following?

. There is no logical reason why people who live in a house in one part of Auckland should get the dividend payment

. The Council can use the $100 million annual revenue from the Vector shares to fund major projects, such as tackling traffic
congestion or improvements to parks and theatres.
. The Trust was set up to soften opinion to the 1990s’ electricity reforms. There is no need to pay the Trust’s
running costs now.

Males (n=237)

Females (n=263)

18- 44 (n=183)

45-59 (n=133)

60+ (n=184)

Aware of AECT (n=400)

Not aware of AECT (n=100)

19
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ARGUMENTS FOR WINDING UP THE AECT
DEMOGRAPHICS - TOTAL AGREE

Using a scale of 1to 5 where 1 means strongly agree and 5 strongly disagree,
how much do you agree or disagree with the following?

. Thereis no logical reason why people who live in a house in one part of Auckland should get the dividend payment

. The Council can use the $100 million annual revenue from the Vector shares to fund major projects, such as tackling traffic
congestion or improvements to parks and theatres.
. The Trust was set up to soften opinion to the 1990s’ electricity reforms. There is no need to pay the Trust’s
running costs now.

Auckland (n=268)

Manukau (n=169)

Franklin/Papakura (n=63)"

> $50K or less (n=114)

> $50K but < $100K (n=110)

> $100K (n=160)

Good knowledge (n=83)

Poor knowledge (n=314)

“Low sample size.
Result must be treated as indicative only.
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Ph Wellington: 04 473 1061
Ph Auckland: 09 373 8700

Wellington Office: Level 9, Classic House, 15-17 Murphy Street, Thorndon, Wellington 6011
Postal Address: P.0.Box 12 604, Thorndon, Wellington 6144

Auckland Office: Level 1,56 Parnell Road, Parnell, Auckland 1052
Postal Address: P.0.Box 90 348, Auckland 1142



